XYZw=95.0443 , 100.0, 108. 85*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13 4
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpge] 13=-0.083765

ter:

Parame:

Cas

n=D65 ) ) Des
120 22 Y 120

CIELAB D65

Name und Farbart

Rysrgs X=0,64 y=0,33 23 4

Gg,sree *x=0,30 y=0,60

Bg,sree X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D65

in Buntheitsdiagram (a*pgs, b*|

r-120

0-000030-L0

TG461-7A 1




XYZw=96.4228 , 100.0 , 82. 49b* Parame-
a* =500 @' -a'y) Y3 2120 ter: Cpg
b* =500 b’ - by) Y3
a =ay [x/y]13

b’ =h, [z/]13 37 2| 4+,

a,=[1/Xpge] 1/3=0.2191 25

by=—[1/Zpgg] 1/3=-0.08376 Q| ..

n=D50 .25 Apso | 19| &'bes
~120 25 ¥ ' 120

CIELAB D65

Name und Farbart

Rysree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D50 T-120
in Buntheitsdiagram (a*pgs, b*|
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0-000030-L0 TG461-7A 1




XYZw=100.932 , 100.0 , 64. GSb* Parame-

a* =500 @' -a'y) Y3 2120 ter: Cag

b* =500 b’ - by Y3

a =ay [x/y]13

b’ = by [z 13 L

2,=[1/Xpeg 1/3=0.21R5 28

by=—[1/Zpge) 13=-0.0837 o|a

n = P40 P40 Qpes
-120 120

CIELAB D65

Name und Farbart 35

Rysree %=0,64 y=0,33
GgsreB X=0,30 y=0,60 28 @
Bg,sree x=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100

dessRGBFarbenraums fiir P40 T

in Buntheitsdiagram (a*pgs, b*|

-120

0-000030-L0

TG461-7A 1




XYZw=109.849 , 100.0 , 35. 58b*
a* =500 @' —a’,) Y13

b* =500 b’ - by) Y3

a =ay [x/y]13

b’ = by [z} 13

2,=[1/Xpgg 1/3=0.2191

by=-[1/Zpe V=-0.98 o
a
A

n =A00 | |

Parame:
F 120 ter: Cag

CIELAB D65 l?fs )

Name und Farbart

Rysree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Yy= 10
dessRGBFarbenraums fiir AOO

in Buntheitsdiagram (a*pgs, b*|

o

r-120

0-000030-L0

TG461-7A 1




XYZ#=100.001 , 100.0 , 100.00%,
a* =500 @' —a'y) Y3

b* =500 ' - b'y) Y3

a' =, [xiy|18

b’ = b, [z4]1/3 40

2,=[1/Xpgd 1/3=0.2191
by=—{1Zpeg3=-0.0831,

Parame:
X120 ter: Cag

n = E00 | ,
-120
CIELAB D65 25
Name und Farbart
Rasres X=0,64 y=0,33 24 40

Gg,sree *x=0,30 y=0,60

Bg,sree X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir EOO

in Buntheitsdiagram (a*pgs, b*|

T-120

0-000030-L0

TG461-7A 1



XYZw=98.0718 , 100.0, 118. 2@*
a* =500 @' —a’,) Y13
b* =500 ' - b'y) Y3
a’ =ap [xy]13 43
b’ = by [z 13
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpgg] ¥3=-0.083788
n=Co0 )

Parame:
ter: Cpg

>
120 23 120

CIELAB D65

Name und Farbart

Rysree X=0,64 y=0,33 43

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir CO0

in Buntheitsdiagram (a*pgs, b*|

-120

0-000030-L0 TG461-7A 1




XYZw=102.067 , 100.0 , 81. OGb* Parame-

a* =500 @ —a’y) Y13 220 ter: Cpg

b* =500 b’ - by) YU3

a =ay [x/y]13

b' = b, [zh]13 )

a,=[1/Xpge] /3=0.2191 27

by=—[L/Zpgq] L3=-0.08376 ol .«

n = P00 g poo 18| &'bes
~120 27 120

CIELAB D65

Name und Farbart 38

Rysree %=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree x=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100

26

r-120

dessRGBFarbenraums fiir P00
in Buntheitsdiagram (a*pgs, b*|

0-000030-L0

TG461-7A 1




XYZw=97.9332 , 1000, 118.9p%,
a* =500 @' —a’,) Y13
b* =500 p’ - b'p) YI/3
a’ =ap [xy]13 44
b’ = by [z} 13
a,=[1/Xpge] 1/3=0.2191
by=—[L/Zpgg) 3=-0.083788
n=Qoo0 )

Parame:
ter: Cpg

>
120 23 120

CIELAB D65

Name und Farbart

Rysree X=0,64 y=0,33 43

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir Q00

in Buntheitsdiagram (a*pgs, b*|

-120

0-000030-L0 TG461-7A 1




XYZw=94.8136 , 100.0, 107. 3@*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13 4
2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpgg 3=-0.083765

ter:

Parame:

Cas

n=D65 , A bes
120 22 T 120

CIELAB D65

Name und Farbart

Rasree X=0,64 y=0,33 23 "

Gg,sree *x=0,30 y=0,60

Bg,sree X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D65

in Buntheitsdiagram (a*pgs, b*|

r-120

0-001030-LO

TG461-7A 1




XYZw=96.7256 , 100.0 , 81. 4lb*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13 37
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpgg ¥3=-0.08376

Parame:
ter: Cpg

n=D50 25 >
-120 25 120

CIELAB D65

Name und Farbart 37

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D50

in Buntheitsdiagram (a*pgs, b*|
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-120

0-001030-LO TG461-7A 1




XYZw=101.751, 100.0 , 64. 44b* Parame-

a* =500 @ —a’y) Y13 1120 ter: Cag

b* =500 b’ - by) YU3

a =ay [x/y]13

b' = b, [zh]13 L

a,=[1/Xpee) 1/3=0.21G8B 29

by=—[1/Z 1/3=-0.0837!

n= F£40 oed pao @ 8%es
-120 120

CIELAB D65

Name und Farbart 36

Rysree %=0,64 y=0,33
GgsreB X=0,30 y=0,60 28 @
Bg,sree x=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100

dessRGBFarbenraums fiir P40 T

in Buntheitsdiagram (a*pgs, b*|

-120

0-001030-LO

TG461-7A 1




XYZw=111.15,100.0, 35.19 %
a* =500 @' —a'p) YU3
b* =500 p' - b'y) Y13
a' =ay [xy] 13

b’ = by [z} 13
a,=[1/Xpgg] 13=0.2191
by=-[1/Zpes] 1*=-0

n = A00 &

Parame:
X120 ter: Cag

CIELAB D65 w )
Name und Farbart

Rysree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Yy= 10’
dessRGBFarbenraums fiir AOO

in Buntheitsdiagram (a*pgs, b*|

T-120

0-001030-LO

TG461-7A 1




XYZ#=99.9908 , 99.9999 , 1000,
a* =500 @' —a'y) Y3

b* =500 ' - b'y) Y3

a' =, [xiy|18

b’ = b, [z4]1/3 40

2,=[1/Xpgd 1/3=0.2191
by=—{1Zpeg3=-0.08315,

Parame:
X120 ter: Cag

n = E00 | ,
-120
CIELAB D65 25
Name und Farbart
Rasres X=0,64 y=0,33 24 40

Gg,sree *x=0,30 y=0,60

Bg,sree X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir EOO

in Buntheitsdiagram (a*pgs, b*|

T-120

0-001030-LO

TG461-7A 1



XYZw=97.2866 , 1000, 116.1fy%
a* =500 @' —a’,) Y13
b* =500 p' - b'y) Y13
a =ay [x/y] 13 43
b’ =b, [2y]1/3
a,=[1/Xpgg] 13=0.2191
by=—{1/Zpeg 1*=-0.083707
n=Coo )

Parame:
ter: Cpg

>
120 23 120

CIELAB D65

Name und Farbart

Rysree X=0,64 y=0,33 43

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir CO0

in Buntheitsdiagram (a*pgs, b*|

-120

0-001030-LO TG461-7A 1




XYZw=102.375, 100.0 , 81. 25b*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpgg ¥3=-0.08376

ol

Parame:

120 ter: Cpg

n = P00 , 28 6
120 28 120

CIELAB D65

Name und Farbart 38

Rysree X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir POO
in Buntheitsdiagram (a*pgs, b*|

26

r-120

0-001030-LO

TG461-7A 1




XYZw=97.65 , 100.0 , 118.42 b
a* =500 &' —a',) Y3
b* =500 ' ~b'y) Y13
a’ =ap [xy]13 43
b’ = b, [z4]1/3
a,=[1/Xpge] 3=0.2191
by=—{1/Zpgg ¥3=-0.083788
n = Q00 )

Parame:

"bes
ter: Cpg

>
120 23 120

CIELAB D65

Name und Farbart

Rysree X=0,64 y=0,33 43

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir Q00

in Buntheitsdiagram (a*pgs, b*|

-120

0-001030-LO TG461-7A 1




